THERBI(=7)

MR : 4&fn 64 7TH28A (A) AR B k=TT
BBHIE : HDCPA > w7 AHE(WHS) ZINAH: 25N (B 25N - &k 0N)
HDCP LFE : 40 THaY T : EL
a—R: [N 1/ 1
FUERLRTE : ~—T Ry b (UhEWIE) - &=y~ 20 (777 s EWIIE) Filill - 5F0 648 7H28H (R)

[1=Eiva ZNE4 iz} £ GROSS | HDCP NET fii 5
@& mBlEKx BE 43 | 38 81| 11.0 | 70.0
(E@mp | Hil JeIx 4 | 4 82| 11.0| 71.0

(3 (| =1 Efe 41 | 45 86| 15.0| 71.0

(4 1D A BRER 42 | 45 87 | 14.0| 73.0

6 N IEEE 47 | 47 94 | 20.0 | 74.0

6 fio| AAT IE 51 | 45 96 | 21.0 | 75.0

7| AR RIE 42 | 43 85| 10.0 | 75.0

(8 fip| KAMR EE 42 | 45 87 | 12.0| 75.0

O {i)| KB HER 12 | 42 84| 8.0 76.0

10 {i7)|fma F15 43 | 45 88| 11.0| 77.0

11 fif | &% FEE 49 51 100 | 23.0| 77.0

12 fif | SRA ke 53 47 100 | 22.0| 78.0

13 fir A XFH 50 45 95| 17.0| 78.0

14 i | =l FEE 46 46 92 | 14.0| 78.0

15 fif | R F3E 48 50 98 | 19.0| 79.0

16 fif |HiEk B= 45 54 99 | 20.0| 79.0

17 iz | A s 49 | 45 94 | 14.0| 80.0

18 {if | E FE& 48 43 91| 10.0| 81.0

19 {2 |Bk1L RS 51 46 97 | 15.0| 82.0

20 fiL |[fEfE E+L 43 46 89| 6.0| 83.0

21 AL | HHT FfE 56 53 109 | 23.0| 86.0

22 L |IRHF FHT 51 52 103 | 16.0| 87.0

23 L |#&)Il = 52 54 106 | 18.0| 88.0

24 fif |@fE ——= 52 52 104 | 10.0| 94.0

25 L |5 B E& 50 57 107 | 13.0| 94.0




THEAB(G=7)

BAfeE (- 0 64 TH28H (H) ANERwr k=g 27
BEE : HDCPA 7 » &7 AR (WHS)  BIAEL: 23N (B 23N - &HE:0N)
HDCP ERR : 40 THE T8 mL
I—R [l 1/
FIERIERE : ~N—T 3y b UNEWIE) - 2207~ A (=77 pa/ S WVIE) Hik : <%0 64 7H28H (H)

JIE 52 ZINE 4 i E2] GROSS | HDCP NET fii %
& Bp|fem Ek 41 | 36 77| 9.0| 68.0
WEER | BB R 44 | 39 83| 10.0| 73.0

(3 (7| F i ZEA 40 38 78| 5.0| 73.0

U fol%E 8 41 40 81| 8.0 73.0

5 NL| Tk =i 43 44 87| 14.0| 73.0

6 (| =H %5 43 | 42 85| 10.0| 75.0

7 0| TR BB 40 | 40 80| 5.0| 75.0

8 fL| KB A 44 | 44 88 | 13.0| 75.0

90 fir|HEH FHH 44 | 44 88| 13.0| 75.0

10 A7 | B 1L Bl— 49 49 98 | 23.0| 75.0

11 7 |22 K Bk 43 40 83| 7.0| 76.0

12 L |&FH BEE 48 45 93 | 17.0| 76.0

13 iz |\l Eis 42 43 85| 7.0 78.0

14 A [/NAR e 49 45 94 | 15.0| 79.0

15 fir |51 88 AT 45 | 44 89| 10.0| 79.0

16 i |H+ BE 45 44 89| 10.0| 79.0

17 AL |[JNEE 1= 52 45 97 | 17.0| 80.0

18 fiz | BRI Y5 47 41 88| 8.0| 80.0

19 fif | K'E =Pt 48 42 90 | 8.0 82.0

20 fif |EEH % 51 46 97 | 15.0 | 82.0

21 AL |BF X 46 46 92 | 5.0 87.0

22 i |8 —f 48 51 99 | 12.0| 87.0

23 [ |59t BAK 53 47 100 | 12.0| 88.0




TRERAGI(LT 4 —2R)

BERL . 4&fn 64 7TH28H (H) NFH ) —0 57
BT . HDCPA > 7 w7 AHR (WHS)  ZInA#k: 8A (B 0N - & 8A)
HDCP EFR : 50 TemofTd: &L
a—2A i ] a/n
FEALEEE : ~N—TF v b UNEWIE) - 2=~ 2 (=70 ez S WIE) FiRl . %0 64g 7H28H (B)
JIE {32 BINE 4 [if] 3] GROSS | HDCP NET fiF &
@& m)wEk mT 40 | 44 84| 14.0 | 70.0
EEER)| Ny BET 44 | 41 85 | 12.0 | 73.0
(3 fD)| kB BT 38 | 37 75| 2.0| 73.0
4 ff | RASE EHE 44 44 88| 15.0| 73.0
5 i | &HH M 45 37 82| 8.0 74.0
6 L |EEER 81 41 42 83| 8.0/ 75.0
T AL | KT 55 45 100 | 19.0| 81.0
8 fiz [AbJII FnE+ 57 55 112 | 30.0| 82.0




